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Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Candidates should not attempt the questions corresponding to their assessed essays. Candidates will individually be informed of which questions are debarred by the assessment essay at the beginning of the examination.

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

______________________________________________________________________________________________________________________________________________________

 1 
Have age-specific mortality rates in Britain declined over the last few centuries in parallel and for the same reasons?

________________________________________________________________________

 2 
Were the increased costs of children the crucial factor leading to the fertility decline in Britain during the late nineteenth and early twentieth centuries?

________________________________________________________________________

 3 
Discuss the variations in nuptiality that took place in Britain between the sixteenth and late-nineteenth centuries and assess their contribution to population growth from the mid-eighteenth century onwards.

________________________________________________________________________

 4 
To what extent have theoretical perspectives on marriage and the family over the last few decades tended to view marriage as a problematic institution?

________________________________________________________________________

                                                            /continued.....
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___________________________________________________________________________

 5 
Is marriage still inevitable in contemporary Britain or does cohabitation provide a genuine alternative to it?

________________________________________________________________________

 6 
'Everyone prefers to have a marriage partner who is similar to her/himself. Thus, differences between spouses' characteristics are bound to cause problems'. Discuss.

________________________________________________________________________

 7 
Are economic factors or cultural factors the most important determinants of contemporary British fertility patterns?

________________________________________________________________________

 8 
Could teenage motherhood be eradicated in contemporary Britain by increasing the availability of contraceptive methods and making teenagers more aware of them?

________________________________________________________________________

 9 
Do the marriage guidance counsellors and marital therapists whose appearance has accompanied the `medicalisation' of marriage in Britain pay adequate attention to marriage in its socio-cultural context?

________________________________________________________________________

10 
Can the rising divorce rate in Britain over recent decades be attributed to the same factors that make some marriages more likely than others to end in divorce?

________________________________________________________________________

11 
What are the difficulties faced by lone-parents and divorced/separated people in contemporary Britain?

________________________________________________________________________

12 
Are contemporary British stepfamilies homogeneous in terms of composition and experiences?


________________________________________________________________________

13 
'In contemporary Britain suicide is a significant source of mortality among young adults, whereas lung cancer is a significant source of mortality among older adults'. Do these two sources of mortality differ in other ways?

________________________________________________________________________

                            /continued.....
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___________________________________________________________________________

14 
Can internal migration within Britain be explained simply by reference to economic factors?

________________________________________________________________________

15 
Why do mortality patterns in less-developed countries continue to differ from those in developed countries?

________________________________________________________________________

16 
Why is `demographic transition theory' of limited relevance to fertility trends in less-developed countries?

________________________________________________________________________

17 
Can policy-makers in contemporary Britain afford to turn a blind eye to population change?

________________________________________________________________________

18 
Why are national population policies sometimes seen to be ineffective and inappropriate?

________________________________________________________________________

                                                               END
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